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「宇宙はどんな世界」レポート問題
“Overview of the Universe” Written works

※このテスト問題の中で使われている「星」は、惑星などを含む広い意味での
「星」ではなく、恒星を指していることに注意して下さい。
In this written work, the term "star" refers to a fixed star (self-luminous body), not including planet.

１．以下の「星の誕生」に関する記述の内，誤っている文をひとつ選びなさい．
Which one of the following statements about star formation is INCORRECT?

A) 星は，分子雲というまわりよりおよそ１００倍以上ガス密度の濃いところから生まれる．
Stars are born from molecular clouds which are dense gas regions, more than about 100 times denser than the surrounding area. 
B) ガスが濃い部分は重力によってまわりのガスを引きつけ，ますます濃くなる．
The denser part of gas clouds attracts the surrounding gas by the gravity, making the part much denser.
C) ガスが集まると温度が上昇し，およそ１０００万度程度に達すると核融 (ゆう)
合反応が始まり，星が誕生する．
As a cloud of gas accumulates, the temperature gets higher. When the temperature reaches about 10 million degrees, the nuclear fusion reaction ignites, which gives birth to a star.
D) 散開星団は，分子雲のすべてのガスが星になってしまい，星だけになった状態である．
An open star cluster is a group of stars where the whole gas of the molecular clouds turned into the stars.


２．以下の「星」に関する記述の内，誤っている文をひとつ選びなさい．
Which one of the following statements about stars is INCORRECT?

A) 星が輝くエネルギーの源は，星内部でおきている核融 (ゆう)合反応である．
The energy source for stars to shine is the nuclear fusion inside the stars.
B) 星の明るさはみな同じで，見かけの明るさが違うのは星までの距離が異なるからである．
The stars have the common intrinsic brightness, so the reason there is various apparent brightness is because of the variety in the distances to stars.
C) 星が一定の大きさを保っているのは，ガスが重力でつぶれようとしてい
るのをガスの圧力で支えているためである．
The reason for stars to be in a stable size is that the contraction of gas due to gravity is supported by the gas pressure.


D) ガスがたくさん集まった重い星ほど高温になる．このため，重い星からの光は青くまた明るくなる．
The heavier the stars which collect more gases, the hotter they become. Therefore, the heavier stars shine bluer and brighter.


３．以下の「星の」に関する記述の内，誤っている文をひとつ選びなさい．
Which one of the following statements about the death of stars is INCORRECT?

A) 重い星ほどたくさんのガスがあるので寿命が長い．
Heavier stars have more gases, which means that their lifetime is longer.
B) 赤色巨星は，星中心部において水素からヘリウムを作る核融合反応が終わった段階である．
A red giant is in a stage that the nuclear fusion making of helium from hydrogen in the core of the star ends.
C) 惑星状星雲は，比較的軽い星の最期の段階で，星から流れ出たガスが中心の星に照らされている状態である．中心の星はやがて白色矮 (わい)星 (せい)になる．
A planetary nebula is the final stage of life for a relatively less massive star. The outflowing gas from the star is radiated by the central core. The core will become a white dwarf.
D) 重い星は超新星爆発でその最期をむかえる．
A heavy star will end its life with the supernova explosion.

４．以下の「銀河」に関する記述の内，誤っている文をひとつ選びなさい．
Which one of the following statements about galaxies is INCORRECT?

A) 銀河は，星が重力で集まっている大集団であり，形で大別すると渦巻型と楕円型に分かれる．
A galaxy is a big collection of stars due to their gravitational pull. The morphology of galaxies is roughly divided into two, spiral and elliptical.
B) 渦巻銀河の円盤構造を支えるのは，銀河中心のまわりの回転運動である．
The supporting mechanism of the disk structure of the spiral galaxy is the rotational motion around the galactic center.
C) 天の川は，楕円銀河の１つと考えられている．
The Milky Way galaxy is considered to be one of the elliptical galaxies.
D) 太陽系は，天の川銀河の中心から約３万光年という比較的外側に位置する．
The solar system resides at about 30 thousand light years away from the center of the Milky Way galaxy, relatively outer part of the disk.



５．以下の「宇宙」に関する記述の内，誤っている文をひとつ選びなさい．
Which one of the following statements about the universe is INCORRECT?

A) ハッブルの法則は，「遠い銀河ほど速く遠ざかっている」というものであり，宇宙膨張の証拠である．
The Hubble–Lemaître law states that the farther the galaxies are, the faster their recession velocities are, which is one of the evidence of the expansion of the universe.
B) 宇宙は，約１４０億年前にビッグバンで始まったと考えられている．
The universe is considered to be born about 14 billion years ago with the Big Bang.
C) 遠くの天体を観測することで昔の宇宙を調べることができる．
By observing the distant objects, we can investigate the past universe.
D) 暗い天体を観測できる性能の良い望遠鏡を作れば，果てしなく遠くの宇宙を観測できる．
If we built a telescope of great power which can observe faint objects, we would be able to observe the infinitely distant universe.


６．以下の「天体の形成」に関する記述の内，誤っている文をひとつ選びなさい．
Which one of the following statements about the formation of objects is INCORRECT?

A) ビッグバン直後の宇宙では原子もバラバラだったが，やがて温度が下がり、約４０万年後にはほとんど水素ガスの宇宙になった．
Just after the Big Bang, particles in the universe were separated from each other. After a while, the temperature was going down. About 400 thousand years after the Big Bang, the particles were almost hydrogen atoms in the universe.
B) 誕生後約４０万年の宇宙では，物質密度はほとんど一様だったがわずかに濃淡があり，これが重力の働きで成長し，星や銀河などの天体になった．
About 400 thousand years after the Big Bang, the matter in the universe was distributed almost uniformly, but it had a slight fluctuation in density. The density fluctuation has grown through the gravitational pull, which then led to objects such as stars and galaxies.  
C) 太陽は，宇宙誕生後最初の頃にできた星である．
The Sun is a star which was formed just after the birth of the universe.
D) 惑星形成は，原始星をとりまくガス中にある固体成分が集まることから始まる．
The planet formation begins from coalescing the solid components in the gas clouds which surround the protostar.







７．以下の「星の役目」に関する記述の内，誤っている文をひとつ選びなさい．
Which one of the following statements about the function of stars in the universe is INCORRECT?

A) 星内部では，軽い元素から重い元素を作る核融合反応がおきている．
In the core of the star, nuclear fusion makes heavier elements from lighter elements.
B) 重い元素は星内部の他，惑星ができる時にも作られる．
The heavy elements are made when the planets form as well as inside the star.
C) 星内部で作られた様々な元素は，星の死とともに宇宙空間へちらばってゆく．
Various elements made inside the stars will be scattered all over the interstellar space when the stars die.
D) 星の生死が繰り返されるにしたがって宇宙にある重い元素が増えていく．
By repeating the star's birth and death, the amount of the heavy elements in the universe is getting richer.


８．以下の「太陽系」に関する記述の内，誤っている文をひとつ選びなさい．
Which one of the following statements about the solar system is INCORRECT?

A) 太陽系の惑星はどれも地球と同じように大部分が岩石でその上に薄い大気層をもっている．
All the planets in the solar system are mainly made of rock with thin layers of atmosphere like Earth.
B) 太陽系には惑星の他に小惑星等さまざまな種類の天体が広く分布し，その広がりは太陽－地球間の距離の１０万倍にもおよぶ．
In the solar system, various objects other than planets such as asteroids are distributed in a wide area. The solar system spans about 100 thousand times the distance between the Sun and Earth.
C) 惑星は，微惑星が衝突合体してできた．木星より外側の惑星ではさらにガス(気体)が降り積もった．
Planets were formed by the coalescence of planetesimals with collisions. In outer regions, where Jupiter and farther planets are, gases are accreted more onto the body.
D) 8 つの惑星はほとんど同一の平面上で太陽の周りを公転しており、その
軌道はほぼ円である．
The eight planets orbit around the Sun in an almost common plane,  and their orbits are close to a circle.




９．①～④に対応する天体としてふさわしいものをＡ～Ｄより選ぼう．
（A～D の天体は冬の星空案内で観ることができる天体です）．
We can see the following celestial objects during winter. Match the objects A to D with its descriptions.
① 星が生まれている星間雲
   Interstellar cloud where stars are born
② 星が集団で生まれむき出しになった天体
   Stars born in a group and exposed from the clouds 
③ 中心部における水素の核融合がおわった星
   Star which ends nuclear fusion of hydrogen in its core
④ とても重い星の最期
   The final form of a very massive star

A) オリオン座ベテルギウス，B) かに星雲，C) オリオン大星雲，
D) すばる
A) Betelgeuse in Orion, B) Crab nebula, C) Orion Nebula,
D) Pleiades star cluster



１０．①～④に対応する天体としてふさわしいものをＡ～Ｄより選ぼう．（A
～D の天体は夏の星空案内で観ることができる天体です）．
We can see the following celestial objects during the summer. Match the objects A to D with its descriptions.

① 近くの高温の星の光のエネルギーをもらって光っている星間
　 ガス
  Interstellar gas illuminated by radiation energy
from nearby hot stars
② 0 等星
   0th magnitude star
③ 赤色巨星
   Red giant
④ 比較的軽めの星の最期
   The final form of a relatively less massive star

A) リング星雲，B) ベガ，C) アンタレス，
D) 北アメリカ星雲（これはちょっと暗くて観えないですが）
A) Ring Nebula, B) Vega. C) Antares,
D) North America Nebula (so faint that we hardly see directly) 

